
Premières - ch6 - Probabilités condititionnelles
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720

P(F ) =
720

1200
=

3

5
= 0,6

618

P(T ) =
618

1200
=

103

200
= 0,515

P
(
T
)
= 1− 103

200
=

97

200
= 0,485

468

P(F ∩T ) =
468

1200
=

39

100

P(F ∪T ) = P(F ) + P(T )− P(F ∩T )

=
720

1200
+

618

1200
− 468

1200
=

870

1200
=

29

40

462 + 120 = 582

196 + 56 = 252

252 582

252

582
=

42

97
≈ 0,43298 ≈ 0,433

Correction 4
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